For Private Circulation Only

Answer - (53) Demographic cycle, Population Policies

1)  What will happen if there is a decrease in the population?

1) Decrease in per capita income 2) Growth in investment
3) Growth in per capita income 4) Decrease in savings
1-3 2-1 3-4 4-4 5-2 6-3 7-1 8-2 0-1 10-1

11-2 12-4 13-2 14-1 15-2 16-4 17-2 18-2 19-2 20-4

21-3 22-1 23-2 24-1 25-1 26-4 27-4 28-2 29-3 30-1

31-1 32-1 33-3 34-1 35-1 36-3 37-1 38-2 39-4 40-1

41-4  42-1 433 44-4 454 463 47-1 483 494 50-1

Study circle . 100 points SSP economy (53) sdg /13



